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¢ Please check that this question paper contains 11 printed pages.

e (Code number given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

e Please check that this question paper contains 32 questions.

e Please write down the Serial Number of the question before
attempting it.

e 15 minutes time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the
students will read the question paper only and will not write any answer on
the answer-book during this period.
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HTHTT :
.

G) g @vel & @yt 397 3T § |
(i)  FAF F97 & [HYRT 37 399 qrad RU 1@ & |

(iii)  F97 G&IT1 -5 77 17 - 21 371a TFHIHS F97 &, 5779 J% &7 1 375 8 |
59T Yo &1 I Uk FTaFT § 57 3957 8 |

(iv) 97 T&IT 6 - 10 37K 22 - 26 TGHIHF 97 &, 970 J9% & 3 375 & |
Je9% BT IR T 60 Jeg] & 37fer 787 517 =T |

(v)  T97 G&IT 11 - 13 37K 27 - 29 4} TGHIHH 97 &, 577 J4% & 4 37% & |
eI & I GIET=TT: 70 V5G] & 3 T8 571 08T |

(i) 397 &I 14-16 3K 30 - 32 FREIIHF I aIct J97 &, 1975 I39% &
6 3% & | I9% T I GII=a: 100 JI5E] @ 379 757 547 T30 |

(vii) TRIfHA (*) J97 GoATERT 597 & |

(viii) IR GIETT TIT TeITcHS &7 FET TIT JqGHT FW 3 T3 HHT & 3a7la &
13T 17 e |

General Instructions :

(i) All questions in both the sections are compulsory.
(it)  Marks for questions are indicated against each.

(iti) Questions No. 1 -5 and 17 - 21 are very short-answer questions carrying
1 mark each. They are required to be answered in one sentence each.

(iv)  Questions No. 6 - 10 and 22 - 26 are short-answer questions carrying
3 marks each. Answers to them should normally not exceed 60 words
each.

(v) Questions No. 11 — 13 and 27 - 29 are also short-answer questions
carrying 4 marks each. Answers to them should normally not exceed
70 words each.

(vi) Questions No. 14 - 16 and 30 - 32 are long-answer questions
carrying 6 marks each. Answers to them should normally not exceed
100 words each.

(vii) Questions marked star (*) are value-based questions.

(viii)) Answers should be brief and to the point and the above word limits
should be adhered to as far as possible.

58/3 2



*1.

58/3

&% ,,1)CBSE
m 3:[ WSS A Complete guide for CBSE students

SECTION A

39 ATk Yo 1 A FA18¢ A1 o <31 # FHEHT § Ifg I % T § TH
B w2 | 1

Name the economic value achievable when attempts are made to
increase resources in the country.

SR qfd 61 gt G | 1

Define market supply.

&g 1 qfd I I AT TAMEER Hd el AT 7 ? 1

When is supply of a good said to be perfectly price inelastic ?

OO ATl & @ 3T ST | 1

Give two examples of fixed costs.

HIT <! qReATT I | 1

Define demand.

T &g hl qfd “Ted” o foheal g1 RN I SRS HINT | 3
AT

i a6 % qi3 TR fawer % foredl 3 Ron ot sme Hifg |

Explain any two causes of “decrease” in supply of a commodity.

OR
Explain any two causes of a rightward shift of supply curve.

‘P IcqTed HU Hl TS R I Jid] g 2 SARST hitaT | 3
Why does the problem of ‘how to produce’ arise ? Explain.
3cTEH & s Tl T 3T Iierd! @nTd st ufteher shifere 3
3cqTe (3hTEaT) 11 2|3 | 4| 5] 6
= & (3) 24 | 20 | 16 | 12 | 18 | 30

3 P.T.O.



10.

11.

12.

13.
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Calculate average variable cost at each level of output | ©50 ) e guiesor cnse mieass

Output (units) 1 2 3 4 5 6
Marginal cost (¥) 24 | 20 16 | 12 | 18 | 30

frfcTfiaa stiehsl @ gfd sl hiFd @ 1 qHEha shIIT

hHd Uid 315 () 10 | 12
FA YT (A7) ()| 2000 | 2400

Calculate price elasticity of supply from the following data :

Price per unit (%) 10 12

Total Revenue (¥) | 2000 | 2400

AR B I & | A hHd § 9iEdd & B 3hi AT T TG hi =
i |

A and B are complementary goods. Explain the effects of change in price
of A on demand for B.

ol @1 AR 9 fqag & il o e T JHesy |
Explain the distinction between the equations of budget line and budget

constraint.

U a&] I G H HWd A () 17 | T 10 U IHIE HImd 9 gEEh A
500 3TS & | TopT shidd W 3Heh! | 20 Tfawd st ?

The price elasticity of demand of a good is (-) 1. At a price of ¥ 10 per

unit its demand is 500 units. At what price will its demand increase by

20 percent ?

TR 1 aRamr T | TR i g ot samsy |

Define monopoly. State the main features of monopoly.
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15.

16.
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freafefigd stferel & Ieared o1 a8 Tt ST It | o Soae S fn o
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A I o I R0 G | (A orra 3 daea s fafy s wm
EAELY) 6
IS (3H1E) | FUH (3TM) ()| T &AM ()

1 12 14

2 24 26

3 36 36

4 48 48

5 60 62

From the following data find out the level of output at which the
producer is in equilibrium. Give reasons for your answer. (Use marginal
cost, marginal revenue approach)

Output (units) | Total Revenue () | Total Cost (3)
1 12 14
2 24 26
3 36 36
4 48 48
5 60 62
ST ki i fomivareT i samEn hifvu | 6
AT

ST fIversur & gRT SUMRRT T <hl ITdl ohl SARSAT hHITTT |

Explain the characteristics of indifference curves.

OR
Explain the conditions of consumer’s equilibrium using utility analysis.

qfd oTiee w1 o7 THST | 38k a%q i Hhiud, HiT AR qfd W 9@l i
QAT ! ST FHIRTT | T@TT=E T TA HINT | 6

Explain the meaning of excess supply. Explain its chain of effects on
price, demand and supply of the commodity. Use diagram.
5 P.T.O.
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Note : The following question is for the Blind Candidates only in lieu of
Q. No. 16.

gfd ST 1 1Yl THESY | 38k a%g ohl hiHd, W AR Yfd W IS4 aT
T 3l *T@AT hl SAREAT hHIT | dTfetehl ST FART HIFT |

Explain the meaning of excess supply. Explain its chain of effects on
price, demand and supply of the commodity. Use a schedule.

Qus d
SECTION B

17. TSES =99 o @l 388Ul S |

Give two examples of revenue expenditure.

18. Hcus™ I A’ S |

Give the meaning of depreciation.

19. ifafe qardn (TAHiY) STIITa = il 3 ?
What is statutory liquidity ratio ?

20. TIHH! So¢ hl qiymsT EfST |

Define a government budget.

21. XY 3cdte <Al gftdmsT df |

Define domestic product.

22. TUeh JAIGEAT H YA I TIAIG IcTeT 9 37(eeh 8 | 3refcyasen § g4
a1t T} afadHi <A s i |

In an economy planned spending is greater than planned output.
Explain all the changes that will take place in the economy.

23. WM GqeH @Id o SR Hga 3R =1 7@l dqeH H 98 hiv |

Distinguish between Balance of trade and Balance on current account of
the Balance of Payments account.
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‘5‘9’[ ﬁ; ‘qﬂg| Eﬁ‘ g.(;oh|£’ c|-,|ef Eﬁ IS @ﬁ? | ‘-“'.{‘7{'4camp:mgmffmcnssmmn 3

HAAT

‘SRl o SR oh T H hr4d Seh shi Y[HRT Sl AT FHINT |
Explain the ‘unit of account’ function of money.

OR
Explain the role of central bank as the ‘Bankers’ Bank’.

Tk 3T Y18 H Ue hIfSU | $7ehT Teh-Ush 3218007 SINIT | 3

Distinguish between stocks and flows. Give an example of each.

3Ed 39U S 1 31Y THSST | 361 3R H1Ed o=d T 1 F1 qFaee
8 ? 3

Explain the meaning of average propensity to consume. What is its
relation with average propensity to save ?

frfaRaa sl ¥ “wres @ R FHad qod §9fg” &1 giehad Il 4
(T ar@l 4)
i  fosh 400
(i) %I § giEda (=) 20
(iii) HETe U 200
(iv) Taa s 40
v) Twia 50
(vi) IR 30
arera

T Tohel BT 3cAIG AN oh TMAh HedAT0 1 Tl TAh g ? 39 IWM &
Tm | g R R |

7 P.T.O.
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From the following data calculate “Net value added at taetor copi s jor cuse stuienss

(T in Lakhs)
) Sales 400
(i1))  Change in stock (=) 20
(iii) Intermediate consumption 200
(iv)  Net indirect taxes 40
(v)  Exports 50
(vi)  Depreciation 30

OR

Is gross domestic product a true index of economic welfare of the

people ? Give two reasons in support of your answer.

Hd g dep Ifegaen # gr@ Wi s ‘A @ g e el e g 2
AR |

How does the central bank control credit creation in the economy

through “Bank Rate” ? Explain.

TR HH o TR TG i A i 7 ST B & | $Hh T R AT(4H
ed UTH i hl 3211 &l Hehdl @ ? HHZATT, |

Government takes measures to restrict autonomous imports of gold.

Explain the economic values desired to be achieved from this.

Fr=fafaa @ 9e Hifs -

(3)

C)

TegeT Y 3T 37T
TTerfHeR =TT 3T I 1]

Distinguish between :

(a)
(b)

Direct tax and Indirect tax

Primary deficit and Revenue deficit
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(§) U rdeaawe o SR § QU T FAfAfEd stiesl 8§ 36 3™ o dqaq

T T Yiehe hIfT : 6
(i) T U = 400

(i) HHra AN TG = 05

(iii) FrEw = 4000

(a)  Distinguish between autonomous consumption and induced
consumption.

(b)  From the following data about an economy, calculate its
equilibrium level of income :

(i)  Autonomous consumption = 400

(ii) Marginal propensity to consume = 05

(iii) Investment = 4000

32. TP I F1 Ufehe T : 6
(T #isl 5)
i) 9 fava & faa =T geara 30
i) Tht erfeam 3uvm = 400
(i) T < ot fwto 100
(iv) %I § giEda 50
(v) HIgH™ 20
(vi) TR g I9HNT == 200
(vi)) Faa fia 40
(viii) Toe sTcae =X 80
(ix) Tocun =+ faat & o *1 g 10
AT
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frfafiaa stiehet & dafthes TIST 3T T IHehed shifod -

(& #gl 5)

i) TSt &3 1 R ara | fFaw

<t Icarg & it o1 800
(i)  UEH R T A 50
(i) TEPR § =T TR 70
(iv) fioft ot & Y s=ra 200
(v) Tm e 40
(vi) diEml g fou e Seae 30
(vi) Hoag™ 60
(viii) ToeEn & faa &R o 20
(ix) faeer =t fFrae @ s () 10

Calculate national income :

(< in Crores)

(1) Net current transfer from rest of the world 30
(i1)  Private final consumption expenditure 400
(iii) Net domestic capital formation 100
(iv)  Change in stock 50
(v)  Depreciation 20

(vi)  Government final consumption expenditure 200

(vii) Net exports 40

(viii) Net indirect taxes 80

(ix) Net factor income paid to abroad 10
OR

58/3 10
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From the following data calculate personal disposable 1/¥Ea e cinpee s jor cast ens

(T in Crores)

) Net domestic product at factor cost

accruing to private sector 800
(ii))  National Debt interest 50
(iii) Current transfers from government 70
(iv)  Savings of private corporate sector 200
(v)  Corporation tax 40
(vi)  Direct taxes paid by households 30
(vii) Depreciation 60
(viii) Net factor income from abroad 20
(ix) Net current transfers to abroad (=) 10
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